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Inslructions: l) All questions arecomDulsory.
2) Figures to the rightindicate full marks.
3) Make suitabte assumptions wherever Necessarw ancl mendon it clearly.,l) Use ofnon-programrnabl€ ralculator is allorved.

SECTION-I
Ql) u) State the various principles ofplanning and explain any two with neat

sketch.

b) Write sho$note on 'scope ofcivil engineering,.a,'
OR

. b) Writera shon nore on 'Role ofa civilengineer'.
lc) What are the various building Bye-laws?

t81

-. [41

t41a,
t4l

Q2) Answer the following.
a) Explain with a neat sketch the ditlerent elements of super_structure of

building. Mention their functions. t61
b) Explain the various qpes ofsoil and rocks as foundation strata. t6l
c) What are the various t1.pes offoundations? Explain the basis on wirich

you u,ill select each type offoundation for a particular situation. t6l

Q3) a)

a)

Compare merits and demerits oltimber and steel as a building material.[g]
OR

What are di{erent grades olconmete? Wdte note on pC.C, R.C.C. and
R,M.C.

' -{ [81
What'are the various advantages and uses olbuilding bric(ii. t4l
Ho-w will you classi$r the var.ious ioads coming on a qtructure. 

_ *[4]i..). P.T.O.

b)

c)



Qa) a)

b)

c)
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SECTION-II

Write note ol principles ofsunreying. . t41

Diffef.ntiate belween r&ole circle bearings and reduced bearings system.

', ,' ,. ,;' 141

A 30 m chain was found to be 15.24 cm too long afler chaini[g a distance
of 1524 m. The chain rvas found 30.48 cm too long after''chaining a total
distance 3048 m. The chain was correct before comnrencement ofthe

iii) Fi{{out the amount oflocal attraction at affected stations.
.,

iv.1 Calculate included angles. Show specimen calcutarions.

work, find the tme distance. t8l
OR

c) The following bearings were takenwith aprismatic compass in rurning a
closed traverse. I81closed traverse.

Line AB BC CD DE EA

F.B. 50.00' 157.30', 243"30' 3l 1'00' 30'00'

B.B. 231"3}', 335"30', 65"00' I30"00' 210"00'

i) Plot the traverse and show all F.B. and B.B. on it.

iD Calculate correct F.B- and B-B.

Q5) a) Attempt any two questions from the following.

I Write a note on 'Auto level' t41

ii) How youwill calculate area onpaperusing mechanical planimeter'?[41

iii) State and explain methods ofreduction oflevels. l4l

b) The following consecutive readings were taken with a dumpy level and a
4.0 m leveling stalf on a continuously sloping ground at a common
interval of 20 m.

0.540, 1.245,2.37 5,3.885, 1.245, 2.560, 3.780, 0.875, 1.625, 2.960

The R.L. of first station was 350.000 m. Make entries in the 1eve1 book
page arld'ripply usual check. Detemine gradient of line j oiningfirsi and
last sfatidns. Use rise and fall method. Show sample calculations. [10]
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Q6) a) Explain with neat diagram fi.rrctions ofvarious components of railway

track (Brold gauee) _,... t4l

b) Explai{rylth neat diagram components offlexible pavemen!:. ,, I4l
l.*

O 
,E$liin 

witfr neat diagram various rmits of water ueaT$ f,*, I4l

d) tlBxplain with neat diagram gravity dam. , I41

OR

d) Explain components ofearthen dam with neat diagram.

,''.'.,

t4l
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